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Sociology Test Series
Sectional Test - 8

Q1. Do you agree that social movements are caused by opportunity structures that are generated by media?
Why?

Q 2 Compare and contrast the Backward Class movements of the North and South India,
Q3. Is Population A Liability or An Asset? Comment.

Q4. Has progress led to significant imbalances in various aspects of society? Provide examples to support
your viewpoint.
| Q5. While global urbanization encountered challenges, in India, it gave rise to the norm of anomie. Discuss

(All the Questions shall be answered in not more than 150 words)
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